



II Deformation about a pressurized spherical cavity in an infinite body

$$\frac{d^2u_R}{dR^2} + \frac{2}{R}\frac{du_R}{dR} - \frac{2}{R^2}u_R = 0$$

Inserting the expressions for u_R and its derivatives into the equilibrium equation yields

$$\dots = \frac{12C_{-3}R^{-5} + 6C_{-2}R^{-4} + 2C_{-1}R^{-3} + 0C_{0}}{\dots + \frac{2}{R} \left(-3C_{-3}R^{-4} - 2C_{-2}R^{-3} - 1C_{-1}R^{-2} + 0C_{0} \right)} \\ \dots - \frac{2}{R^{2}} \left(C_{-3}R^{-3} + C_{-2}R^{-2} + C_{-1}R^{-1} + C_{0}R^{0} \right) = 0$$

Now multiply by the leading radial terms

$$\dots 12C_{-3}R^{-5} + 6C_{-2}R^{-4} + 2C_{-1}R^{-3} + 0C_{0}$$

$$\dots - 6C_{-3}R^{-5} - 4C_{-2}R^{-4} - 2C_{-1}R^{-3} + 0C_{0}$$

$$\dots - 2C_{-3}R^{-5} - 2C_{-2}R^{-4} - 2C_{-1}R^{-3} - 2C_{0} = 0$$

Sum terms of like powers of R

$$\dots 4C_{-3}R^{-5} + 0C_{-2}R^{-4} - 2C_{-1}R^{-3} - 2C_{0} = 0$$

GG454

5/6/15

II Deformation about a pressurized spherical cavity in an infinite body

 $\dots 4C_{-3}R^{-5} + 0C_{-2}R^{-4} - 2C_{-1}R^{-3} - 2C_{0}R^{0} = 0$

The equilibrium equation holds for all values of *R*. Since all the terms in the power series were linearly independent (one term cannot be expressed as combinations of the others), the only way the equation above can hold for all values of *R* is if each term equals zero. That means all the coefficients except C_{-2} must equal zero. Hence,

$$u_r = C_{-2} R^{-2}$$

If the radial displacement at the wall of the hole, where R = a, is u_0 , then

$$u_R(R=a) = u_0 = C_{-2}a^{-2}$$

Solving for C-2 yields

$$C_{-2} = u_0 a^2$$
$$u_R = u_0 a^2 R^{-2} = u_0 \frac{a^2}{R^2}$$

GG454

Hence



















